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Q.1 Fill in the blanks :----- 

(i) Ranga was the son of an…………………… 

(ii) Ranga was reluctant to get married in the beginning because he 

was an…………… . 

(iii) Ranga’s son was named after…………the narrator. 

(iv) ……….was Ranga’s wife. 

(v) Ranga and the narrator belonged to…………village. 

Q.2 Choose the correct from the options given :-- 

(i) The word Ratna literally means: 

(a)Pearl (b) Stone (c) gold (d) Ornament 

(ii) Who was Ratna’s uncle? 

(a) Ranga       (b) The narrator (c) Rama Rao (d) Krishna Rao 

(iii) The narrator was Ranga’s…………. 

(a) father  (b) brother (c) uncle (d)  father’s friend 

(iv) Ranga went for higher education to:-- 

(a) Bengaluru (b) Mumbai (c ) Delhi (d) Chennai 

(v) Hoshahali, the village of the narrator belongs to the Indian state … 

(A) Madras (b) Mysore (c) Travancore (d) Delhi 

Q.3 Match the following 

1. Ranga’s higher studies                       (a) Ratna before marriage 

2. Orphan                                               (b) Bengaluru 

3. Shyama                                              (c )Ranga’s father 

4. Accountant                                         (d) The name of the narrator 

5. Ratna                                                  ( e) Ranga’s wife 
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Q.4 State whether following statements are True or False 

(i) Ranga fell in love with Ratna at first sight. 

(ii) The narrator had very high regards for astrology. 

(iii) Ratna was the victim of child marriage. 

(iv) Ranga was not grateful to the narrator for helping him marry Ratna. 

(v) Ranga’s son was named in the name of the narrator. 

 

Q.5 Arrange the following happenings of the story in correct sequence 

(a) Ranga, the son of village accountant returned to his village after 

education in Bengaluru. 

(b) The narrator  was disappointed to hear his views of marriage. 

(c) The narrator wanted Ranga to get married. 

(d) The narrator set an opportunity for the young couple to meet at Rama 

Rao’s home. 

(e )Ranga was married to Ratna and he named his first child after the 

narrator Shyama. 

(f) Ranga admitted that he was in love with Ratna and was ready to marry 

her. 

(g) The narrator thought that Ranga should be married as  planned scheme. 

(h) Ranga fell in love with Ratna at first sight. 

(i) Ranga was surprised to hear that he was mentally motivated   for 

thinking of the girl. 

(j) The narrator took him to an astrologer and the astrologer predicted the 

things as tutored. 

(k) He thought Ratna , Rama Rao’s niece would be a suitable match for 

Ratna. 
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ANSWER-KEY 

Ans. 1 (i) accountant 

           (ii) Idealist 

          (iii) Shyama 

(iv) Ratna 

         (v) Hosahali 

Ans. 2 (i) a 

           (ii) c 

           (iii) d 

           (iv) a 

           (v) b 

Ans.3  (i)---(b) 

            (ii)—(a) 

           (iii)—(d) 

(iv)---(c ) 

          (v)--- (e) 

Ans. 4 (i) True 

           (ii) False 

          (iii) True 

(iv) False 

         (v) True 

Ans.5  a, c, b, f, k, j, d, g, I, h, e 

 

 

 

 

 


